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QUESTION 1

When should a JPA entity implement the Serializable interface? 

A. when JPA entities are used in the EJB Full container 

B. when JPA entities are used outside of the EJB Lite container 

C. always, because JPA entities are required to implement the Serializable interface 

D. when JPA entities are used as parameters or return values by the remote EJB operations 

Correct Answer: D 

Reference: https://stackoverflow.com/questions/2020904/when-and-why-jpa-entities-should-implementserializable-
interface 

 

QUESTION 2

You need to load on-hand balances for go live. Which template should be used for this? 

A. InventoryBalanceImportTemplate.xlsm 

B. InventoryReservationImportTemplate.xlsm 

C. InventoryTransactionImportTemplate.xlsm 

D. InventoryOnHandBalanceTemplate.xlsm 

E. InventoryMiscellaneousTrxTemplate.xlsm 

Correct Answer: C 

 

QUESTION 3

Your customer is setting up serial control. The requirement is that if item A has serial 123, then they don\\'t want item B
to also have serial 123 within the same inventory organization. 

Which serial control setting must be used to meet this requirement? 

A. Unique across Enterprise 

B. Unique within items 

C. Unique within organization 

D. Unique across organizations 

E. Unique within Item and organization 

Correct Answer: C 
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QUESTION 4

A user is performing a material return transaction against access stock in an Inventory organization; however, the user
fails to select the Physical Material Return Required check box. 

What happens? 

A. It is considered as accounting-only return. 

B. Stock is reserved. 

C. A transfer order line remains open. 

D. Shipment lines are created. 

Correct Answer: A 

 

QUESTION 5

Your supplier sent you stock against a consigned agreement. You transferred at the stock to owned and generated a
consumption advice. An invoice was raised by the supplier and the payment made. A few days after using some of the
quantities of the stock, you realized that some of the stock sent by the supplier is not of suitable quality and you need to
send the stock back. 

What is the process of returning the material? 

A. You have to cancel the invoice and send the material back without changing the ownership. 

B. Return the material and create a debit memo for the supplier. 

C. You cannot return consigned items that are invoiced and paid. Treat the material as scrap. 

D. You have to transfer the ownership of item and perform the return transaction. 

Correct Answer: B 
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